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Question 1

Question Type: MultipleChoice

Based on the information shown in the exhibit, how many EPS bearers has the PGW created in total for all UES?

A:PGWH¥ show mobile-gateway pdn bearer-context

Bearer context

INSI APN Bearer Type OQCI/ARP MBR/GBR SDFs

302720123456791 ipd.alcatel 5 Def 9/12 - i)

J02720123456791  ipd.alcacel 6 Ded 2/2 30000/20000 1

302720123456790 ipd.alcacel 5 Def 9/12 e o

302720123456790 ipd.alcatel 6 Ded 2/2 30000/20000 1

302720123456789 ipd.alcatel 5 Def 9/12 - 0

B02720123456789 ipd.alcatel 6 Ded 2/2 30000720000 1
Options:

A-6




B-5
C-4
D- 3
E-2
F-1

Answer:

Question 2

Question Type: MultipleChoice

A UE needs to get an IP address before it can communicate to any PDN over the LTE network. Which of the following statements most
accurately describes the process of the IP address allocation?

Options:

A- A UE may obtain an IP address during the PDN connection setup.



B- A PGW may assign the IP address from its local address pools.
C- A PGW may obtain an IP address from a RADIUS server and assign it to the UE.
D- A PGW may obtain an IP address from a DHCP server and assign it to the UE.

E- All of the above answers are correct.

Answer:

E

Question 3

Question Type: MultipleChoice

Which of the following statements is FALSE regarding the PGW?

Options:

A- The PGW terminates the IP sessions from a UE.
B- The PGW enforces PCC rules and QoS policies.

C- The PGW may provide gating control for user traffic.



D- A UE may be served by only one PGW.

E- A UE may receive more than one IP address from the PGW.

Answer:

D

Question 4

Question Type: MultipleChoice

A UE is exchanging best-effort (BE) IP traffic with a PDN server over an EPS bearer with a QCI/ARP value of 9/12. Based on the
information shown in the exhibit, what is the DSCP value of traffic egressing the S5 interface of the PGW to the SGW?



*A: PG>config-mobile# info
profile
diameter-peer "diam-peer-1"
application-type ox
destination-realm "lucent.com"
diameter-profile "default”™
interface "int-gx"™
peer 10.10.5.2 port 3868
no shutdowm
exit
exit
policy-options
gci-policy "dl-gci-pl”™
gei 9 arp 12
dscp ef
no dscp-preserve
o LR - § i
profile in
exit
e¥iL
gei-policy "ul-gci-pl”
gei 9 arp 12
dscp afZl
no dacp-prLeserve
profile out
exitc
exit
exit
EeX1tC
pdn 1
apn "ipd.alcatel-lucent.com”
pcrf-selection
dynamic-pcec
exit
ip-alloc-method local-pool
pdn-type ipvd
pdn-type ipwvét
pdn-type ipwvdvé

gei-policy uplink "ul-gei-pl™ dowmlink "dl-gei-pl”

(PR W | o - ey | )

eNod SGW\_/P,GE)
UE eB

DSCP: BE Evolved _Pacl:et
Core

signaling
diameter
origin-host "diamn.otigRealn. c
origin-realm "origRealm.com™
profile "default"
exit
interface "aysten”
exit
kpi-kci
exXit
gx
pcrf-selection
primary-diame ter-peer "diamn-p
exit
EX1L
85
interface
gtp-c "int-s5"
gtp-u "int-25"
exit
(it by
no shutdowm
exit
system
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Options:

A- BE
B- EF
C- AF21
D- NC

E- None of the above answers are correct

Answer:

B

Question 5

Question Type: MultipleChoice

On Alcatel-Lucent 7750 SGW, which of the following CLI commands is used to obtain the output displayed in the exhibit?



Peer address : 10.10.10.5

Router : Base

Port : 2123 Chassis/Card : 172
Create session requests 1.6 Create session responses t b
Delete ses=ion requests 4 Delete sesszion responses : 4
Create bearer requests B Create bearer responses : D
Delete bearer requests v Delete bearer responses i
Update bearer requests B Update bearer responses : D
Modify bearer requests =B Modify bearer responses P
Malformed packets Rx Hil 5 Unknown message pkts Bx B
Modify bearer commands o 1 | Modify bearer fail ind e
Delete bearer commands : 0 Delete bearer fail ind : D
Miszing mand IE pkts Bx 0

Bearer resource commands 0 Bearer resource fail ind : O

e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e = e =

Peer addre=ss : 10.10.10.5

Router : Base

Port s 2123 Chassis/Card : 174
Create session requests B Create session responses £
Delete session requests A | Delete session responses 1]
Create bearer requests £t D Create bearer responses 1]
Delete bearer requests =D Delete bearer responses 0
Update bearer requests : D Update bearer responses 0
Modify bearer requests T Hodify bearer responses 1 0
Malformed packets Rx HE Unknown mnessage pkts Bx : D
Modify bearer commands i Modify bearer fail ind 2 0
Delete bearer commands 0 Delete hearer fail ind 0
Misaing mand IE pkts Rx 1 0

Bearer resource commands r g Bearer resource fail ind Eifl

Number of peer instances : 2




Options:

A- Show mobile-gateway serving ref-point-stats s11
B- Show mobile-gateway serving ref-point-stats s5
C- Show mobile-gateway serving ref-point-stats s11 instance

D- Show mobile-gateway serving ref-point-stats s5 instance

Answer:

D

Question 6

Question Type: MultipleChoice

Which of the following statements is FALSE regarding the EPS bearers?

Options:




A- An EPS bearer is either a GBR bearer or a Non-GBR bearer.
B- An EPS bearer is either a default bearer or a dedicated bearer.
C- A dedicated bearer can be a GBR or a Non-GBR bearer.

D- A default bearer can be a GBR or a Non-GBR bearer.

E- A UE can have multiple GBR or Non-GBR bearers.

Answer:

Question 7

Question Type: MultipleChoice

When a UE is roaming, which of the following interfaces is used when the visiting SGW needs to communicate with the UE's home
PGW?

Options:

A- TheS1 interface.



B- The S5 interface.
C- The S8 interface.
D- The S10 interface.

E- The SGi interface.

Answer:

C

Question 8

Question Type: MultipleChoice

Which of the following interfaces is not using the GTP-U protocol?

Options:

A- The X2 interface
B- The S1-U interface
C- The S4 interface



D- The S5 interface
E- The SGi interface

Answer:

E

Question 9

Question Type: MultipleChoice

When MG-ISM redundancy is used on an Alcatel-Lucent 7750 MG, which of the following statements is FALSE?

Options:

A- An MG-ISM switchover has no impact on connected users.

B- An MG-ISM switchover has no impact on network element peers.

C- EPS bearers are synchronized between the active and standby MG-ISM cards.
D- The redundancy is non-revertive.

E- None of the above statements are false.



Answer:

Question 10

Question Type: MultipleChoice

A HE (HTTP client) is communicating with an HTTP server over The EPC core Based on the information shown in the exhibit, what is
the maximum HTTP traffic rate that the UE may have in the DL direction?



APFH show mobi le-getevmy pdn bearer-cortext imsi J0ZT7Z01Z3456780 detail

Eearer context decail

- - ] - -
INST : S0ZTE0LZ34567E9

ApH : ipd_aslesrel-lucent  com

EBsarsr Id i Esarsr typs ; Datault
QCI/ ARD L F A SLFs L

Up Time : Od DD:0l:4Z

BE PET Dara TEID : OxdO49Z25 25 8G7 Data TEID : ODx4l0D70E
S5 POW Daca addr : 10.10.7.2

25 SC Dera addr : 10.10.7.1

35 DL packhets : 235681 35 DL byces : 3372413
BCI UL packets : Z3558E 5CI UL bytas : LETEEZED
INET : 3027201Z3455789

APH :odpd.alecacel-lucenc . com

Bearer Id E Eearer type : Dedicared
QCI ARP RSl SDFs R

Up Time : 0d 0D:01:29

55 DL packets o 58 DL a

SGI UL packets - O 2GL UL .':rrl:-! o

EDF rule nams : orule=1

ZDF precedance @ SDF pkt filters : &

Z0F QoS UL MER  : 15000 Fbps AF a8 DL MBR = :© 15000 Fhps
EDF QoS UL GBER  : L0000 Flbps SDF Qo2 DL GBR  : 10000 Ebps
Fileer id e Filter directiem : DL

Filter protocel : wudp

Fource address : 10 10.6.2/32

Zource ports : 12D = LEL

Destination adde @ 5.5.12.74/32

Fileer id ek Filter directionm : UL

Filter protocol : wudp

Source address : B 512 _T432

Dastination addr ; 10.10.6.2/32

Destrnerion pores @ 120 - 12]

SDF rule name opale-2

2OF pracedence : 20 SDF phkt filters : 2

E0F Qef UL MBER  : 15000 Flps SDF Qo DL MBE  : 15000 Fbps
EDF Qa3 UL GER @ 10000 Fips SLF a2 DL GBR  : 10000 Fbhps=
Filter ad ] 4] Filter direction : DL

Fileer protocol @ wuip

Source addrass : 10.10.6.2/32

Source ports : 20 - 21

Destination addr : E.5_12_7/32

Filter id e Filter directionm : UL

Filter protocol @ udp

Source address : ELELLE. M SA2

Destinasvion adde : 10.10.6.2/32

Destnetion ports : 20 = Z1

5.6.12.74

Evolved Packet

HTTP
Server

10.10.6.2,
TCP port 80

*A:POE ahear nnhiltvgnt.u&ir pdn bearer-cont st

Esarer context

INs1 APN Bearer Type

MER/CER SDFs

FOZTI0LEZME6T50  dpd.alcatel-luce® ©
J0ZT720LZ3456769 ipd alestel-luce* &

- s ——— e,

= o
20000/20000 2

—— s

*A: PO show :mbl.i.n—qm:wljr pdn pdn—:w:ﬂ;m imFl 3:32‘?‘23.1.234-56'?93 detail

FLN context detail

e il i

IMST : B02T720123456789

APH : ipd.alcacel-lacentc . com
DN type : IPwd

ZE sig protocel  ETP

UL AP AMEER : BE0O0 Ebps

Bearer contaxts : £

Piggyvback bearsrs regquested
Figgvback bearers creation success ful
Chareing baarer *: Tisiedneg

UE IPvd address @ E.5.17.74

55 PAT Crrl Tedd @ OxdO4200

25 PGW W4 Cel Adr: 10 10.7.2
Gx PCRF addr i G
G PEI addr 10 10.5.1
PCRF criggers : H/A

AP restrictim

iR kA

Corl Tedd : Ox4b00700
Ve Cel Ade: 101071




Options:

A- 10000 kbps
B- 15000 kbps
C- 20000 kbps
D- 30000 kbps
E- 55000 kbps

F- None of the above answers are correct.

Answer:

E
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